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| 'I“ime : Three hours Maximum : 100 marks

PART A — (10 x 3 = 30 marks)
Answer any TEN questions.
All questions carry equal marks.
1.  Write any three characteristics of O'R.
@M&& sprmiFSuder gCaeyd aperm LG |&meTs
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2.  Define the term basic feésible solution.
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.3.  Write the use of artificial variables in LPP.

LPP- e Qewmens wriaseflen uwtemimenL er(pgis. -

4.  State any two difference between transportation‘

problem and a assignment problem. »

transportation H&sQEEL assignment £&5QIHGEL0
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5. Give an example of a sequencing mod_el.‘
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10.

11.

12.

How does network analysis help in project work?
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What are the elements of simulation model?
Limeuenent Ulg LogSlem & miLiLS6T wremeu?
List the controls of ASP. Net.

ASP. Net & 2 aer s_(Hliur@seamer LiL g wel(Hs.

vDe’ﬁne page event.

flspaey LGsD cuamywean.

Write the ‘syntax of Javascript.
Javascript en Ggmflweels Lbl ﬁ@@a;.
What is s?yle‘ shee_”c? |

Style shéet GTETDHITC) GTEITEHT?

Write the rules -for creating styles.

Styles— o peureugnanean el lsamers er(pgl.
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